
  

DECEMBER 2016 U/ID 9010/JA2 

Time : Three hours Maximum : 50 marks 

Answer any THREE questions. 

1. Draw the less than and more than O gives curve 
from the following data. Hence find out the 
median graphically 

Weight 10-20 20-30 30-40 40-50 50-60 60-70

(kg) :       

Number       

of patients 7 12 15 8 4 3 

  RÌPõq® ÂÁμ[PÐUS SøÓ KøPÆ ÁøÍÄ 

©ØÖ® ªøP KøPÆ ÁøÍÂøÚ²® Áøμ¢x 

Av¼¸¢x Cøh{ø» ©v¨¤øÚ Áøμ¨£h® ‰»® 

PõsP. 

Gøh 10-------–20 20–-30 30–-40 40–-50 50–-60 60–-70

(Q÷»õ) :       

÷|õ¯õÎ°ß       

GsoUøP 7 12 15 8 4 3 
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2. In a hospital investigation the number of hours 40 
patients slept after taking a drug was reconded 
and group into the following table. Calculate the 
mean, median, mode and standard deviation. 

Hours of sleep 0-2 2-4 4-6 6-8 8-10 10-12

Number of        

Patients 4 9 6 10 6 5 

  J¸ ©¸zxÁ©øÚ B´ÂÀ 40 ÷|õ¯õÎPÒ 

SÔ¨¤mhöuõ¸ ©¸¢x ö\¾zu¨£mh¤ß EÓ[Q¯ 

Põ» AÍÄPÒ (©oPÎÀ) £vÄ ö\´¯¨£mk 

¤ßÁ¸©õÖ ÁøP¨£kzu¨£mhÚ. CÆÂÁμzvØS 

\μõ\›, Cøh{ø», •Pk ©ØÖ® vmhÂ»UP® 

©v¨¤øÚ PõsP. 

EÓ[Q¯ Põ» AÍÄ 0-2 2-4 4-6 6-8 8-10 10-12

÷|õ¯õÎPÎß       

GsoUøP 4 9 6 10 6 5 

3. Fit a normal distribution to the following data. 

Marks : 0-10 10-20 20-30 30-40 40-50 50-60

Number of       

students : 7 13 20 18 7 5 
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 RÌUPsh ÂÁμ[PÐUS J¸ C¯À{ø» £μÁø» 

ö£õ¸zxP.  

©v¨ö£sPÒ : 0-10 10-20 20-30 30-40 40-50 50-60

©õnÁºPÎß 7 13 20 18 7 5 

GsoUøP:       

4. The intake of protein (x) and gain in weight (y) of 
10 rats are given below. 

x : 10 11 12 14 16 13 15 12 14 16

y : 12 15 16 22 24 18 23 14 20 29

 (a) Find the correlation coefficient between x  
and y . 

 (b) Obtain the two regression equations 

 (c) Estimate x value when 17y . 

 (d) Estimate y  value when 20x  

 10 G¼PÒ EsöPõsh ¦μua\zvß AÍÄ® ( x ) Auß 

£¯ÚõÀ G¼PÒ ö£ØÓ Gøh¨ ö£¸UP•® ( y ) R÷Ç 

u¢uÁõöÓÛÀ 

x : 10 11 12 14 16 13 15 12 14 16

y : 12 15 16 22 24 18 23 14 20 29
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 (A) x ©ØÖ® y –US®  Cøh°»õÚ JmkÓÄ 

©v¨¤øÚ Psk¤i. 

 (B) Cμsk Ehß öuõhº¤À ÷PõkPøÍ PõsP. 

 (C) y°ß ©v¨¦ 17 BP C¸US® ÷£õx x ©v¨ø£ 

PõsP. 

 (D) x°ß ©v¨¦ 20 BP C¸US® ÷£õx y©v¨ø£ 

PõsP. 

5. (a) A random sample of students of Bangalore 
University was selected and asked their 

opinions about autonomous colleges. The 
results are given below. Test whether 

opinions are independent of the course 
grouping at 5% level of significance. 

Course Favouring Opposed to 

 Autonomous  Autonomous 

 Colleges Colleges 

U.G Course 320 180 

P.G Course 80 20 

[P.T.O.]
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  \©Áõ´¨¦ TÖ •øÓ°À ÷uº¢öukUP¨£mh 

ö£[PÐº £ÀPø»PÇP ©õnÁºPÒ ußÚõm] 

PÀ¿›PÒ SÔzx P¸zxPÒ ÷PmP¨£mk •iÄPÒ 

R÷Ç öPõkUP¨£mkÒÍÚ. 5% ]Ó¨¦ Põs ©mhzvÀ 

£õh® ¤›ÄPÐUQøh÷¯¯õÚ P¸zxUPÒ 

\õº¢xÒÍuõ GÚ ÷\õuøÚ ö\´P. 

£õh¨¤›Ä ußÚõm]ß ußÚõm]ß 

 PÀÂUS BuμÁõP PÀÂUS GvμõP 

£mh £i¨¦ 320 180 

£mh ÷©Ø£i¨¦ 80 20 

  (b) Random samples drawn from the districts 
gave the following data in the heights of 
adult females. 

 District A District B

 (Inches) (Inches)

Mean 67.43 67.28 

S.D. 2.58 2.60 

Sample size 800 800 

  Is the difference between the means 
significant. 
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 Cμsk ©õÁmh[PÎÀ EÒÍ Á¯x Á¢u ö£sPÎß 

E¯μ[PÒ \©Áõ´¨¦ TÖ •øÓ°À ¤ßÁ¸©õÖ 

ö£Ó¨£mhÚ. 

 ©õÁmh®  (A) ©õÁmh®  (B)

 (A[S»zvÀ) (A[S»zvÀ)

\μõ\› 67.43 67.28 

vmh Â»UP® 2.58 2.60 

TÖ AÍÄ 800 800 

 Cμsk \μõ\›PÐUQøh÷¯ ÷ÁÖ£õk EÒÍuõ? 

  

———————  


